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e K4 AR |~ B i\ | Bk | e e IE | fBsaEt] A
BOARE Y 77 JHE KR 1 10. 35 2 9.75 1 7. 80 1 27.90 2
LR T 7 A 1 10. 70 1 9. 75 1 7. 60 2 28. 05 1

B K4 A | vy b i\ | Bk | JIE e [FERECY =S =
BUAERE Y 77 /K KEE 2 10. 40 3 10. 45 3 4,05 3 24. 90 3
PORKE Y 57 = BER 2 10. 60 2 10. 65 2 8. 80 2 30. 05 2
B RKE Y 77 ISR 3 2 10. 70 | 11.00 1 9. 70 1 31. 40 1

e K4 FAE | v v b g | Bkos | A PR E 1 15aa5h JIE
GAEN AEaS: Yora AN 3 9.95 3 9. 45 3 4, 85 3 24, 25 3
B AKE Y 77 RPN 3 10. 40 2 11.00 1 10. 00 1 31. 40 1
LR T 7 /NE A 3 11. 10 1 10. 80 2 8. 95 2 30. 85 2
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B K4 | vy B e | Bk | JIE e [FERECY =S =
KNI ERITOKBIA#R 7 7 IIEEE 4 11.65 1 8. 90 5 10. 10 1 3065 2
BORARE Y 77 Dk R 4 10. 65 4 10. 60 3 7. 50 4 28. 75 4
B XKy 77 & H 4 10. 50 5 10. 70 2 6. 85 5 28. 05 5
BORKE Y 77 L BEAER 4 11. 10 3 10. 60 3 8. 60 3 30. 30 3
B A Ky T T YN IS EE 4 11. 40 2 11. 80 1 8. 75 2 31. 95 1
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